Potencias de 10 (E)

5,768 + 10!

0,147 + 10!

7,589 + 10!

1,31 10!

7,65 = 10!

4,022+ 10!

0,042 = 10!

0,063 =+ 10!

6,838+ 10!

9,078 = 10!

Calcule los siguientes cocientes.

8,244 + 10!

6,466 + 10!

1,027 = 10!

1,77+ 10!

7,823 = 10!

4,692+ 10!

8,754 = 10!

0,761 = 10"

3,751 = 10!

1,24+ 10!
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Potencias de 10 (E) Respuestas

5,768 = 10!
0,5768
0,147 10!
0,0147
7,589 = 10!
0,7589
1,31+ 10"
0,131
7,65+ 10!
0,765
4,022+ 10!
0,4022
0,042 = 10!
0,0042
0,063 = 10!
0,0063
6,838 = 10!
0,6838
9,078 = 10!
0,9078

Calcule los siguientes cocientes.

8,244 10!
0,8244
6,466 = 10!
0, 6466
1,027 = 10!
0,1027
1,77 < 10!
0,177
7,823 10!
0,7823
4,692 = 10!
0,4692
8,754 10!
0,8754
0,761 = 10!
0,0761
3,751+ 10!
0,3751
1,24+ 10!
0,124
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